

Page 1 of 1

Florida Department of Transportation



Vendor Ranking

02200513 Letting: May 13, 2020 11:00 AM Call Order: 005 E20E0-R0 Contract:

Counties: ALACHUA, DIST/ST-WIDE Fed Aid No: N/A District: District 2

Project(s): 41021347231 (*) Contract Time: 365 CALENDAR DAYS

Contract Desc: GAINESVILLE MAINT ROUTINE MAINT CONTRACTS PRIMARY

Rani	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	AERO GROUNDTEK, LLC	Responsive	Winning bid	\$398,870.00	100.00%
2	GRADING & BUSH HOG SERVICES, INC.	Responsive	Non-Winning Bid	\$399,578.88	100.18%
3	SUWANNEE FOREST PRODUCTS, INC.	Responsive	Non-Winning Bid	\$450,277.20	112.89%
4	JT RUBY CONTRACTING SERVICE INC	Responsive	Non-Winning Bid	\$485,338.40	121.68%
5	T & M LAWN-FENCE SERVICE INC	Responsive	Non-Winning Bid	\$569,523.20	142.78%
	T&D MOWING	Non Responsive			

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



Florida Department of Transportation



Tabulation of Bids

Page 1 of 3

Letting: 02200513 May 13, 2020 **Call Order:** 005 **Contract:** E20E0-R0

District: District 2 Counties: ALACHUA, DIST/ST- Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS WIDE Project(s): 41021347231 (*)

Contract Descr: GAINESVILLE MAINT ROUTINE MAINT CONTRACTS PRIMARY

Large machine mowing, large machine herbicide mowing, slope mowing, intermediate mowing and litter removal on state maintained right of ways. RENEWAL OPTION. BID EXPRESS MANDATORY.

	Quantity Units	(1) AERO GROUNDTEK, LLC		(2) GRADING & BUSH HOG SERVICES, INC.		(3) SUWANNEE FOREST PRODUCTS, INC.	
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (LARG	SE MACH	INE MOWING (AC					
0005 E104 4 1 7,5 MOWING (REGULAR/LARGE MACHINE)	528.000 AC	20.00000	150,560.00	17.92000	134,901.76	19.00000	143,032.00
0010 E104 4 2 3 MOWING (SLOPE)	308.400 AC	115.00000	35,466.00	224.00000	69,081.60	225.00000	69,390.00
0015 E104 4 4 3 MOWING (INTERMEDIATE MACHINE)	332.000 AC	75.00000	24,900.00	112.00000	37,184.00	225.00000	74,700.00
0020 E110 30 10,9 LITTER REMOVAL	929.600 AC	15.00000	163,944.00	11.20000	122,411.52	12.00000	131,155.20
0025 E580337 8 8 HERBICIDE (MOWER APPLICATION)	300.000 AC	30.00000	24,000.00	45.00000	36,000.00	40.00000	32,000.00
0001 LARGE MACHINE Section 1 MOWING (AC)	Totals:		\$398,870.00 [°]		\$399,578.88		\$450,277.20

Contract Grand Totals:	\$398,870.00	\$399,578.88	450,277.20
Contract Grand Totals:	\$398,870.00	\$399,578.88	450,277.20



Florida Department of Transportation

05/26/2020

Tabulation of Bids

Page 2 of 3

Lettin	g : 0	2200513	May 13, 2020	Cal	l Order: 005		Contract:	E20E0-R0	
	No / Item ID Alternate Description		te Quantity Units	(4) JT RUBY CONTRACTING SERVICE INC		(5) T & M LAWN-FENCE SERVICE INC			
() in	dicates item is b	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (LARGE MACHINE MOWING (AC									
0005 MOWIN MACHII		(REGULAR/LA	7,528.000 RGE AC	16.00000	120,448.00	35.00000	263,480.00		
0010 MOWIN	E104 4 2 NG (SLOPE)		308.400 AC	200.00000	61,680.00	200.00000	61,680.00		
0015 MOWIN	E104 4 4 NG (INTERMEI	DIATE MACHII	332.000 NE) AC	75.00000	24,900.00	80.00000	26,560.00		
0020 LITTER	E110 30 REMOVAL		10,929.600 AC	24.00000	262,310.40	17.00000	185,803.20		
0025 HERBIO	E580337 8 CIDE (MOWER	R APPLICATIO	800.000 N) AC	20.00000	16,000.00	40.00000	32,000.00		
		E MACHINE S OWING (AC)	Section Totals:		\$485,338.40		\$569,523.20 [']		
		Contract G	rand Totals:		\$485,338.40		\$569,523.20		



Florida Department of Transportation

05/26/2020

Tabulation of Bids

Page 3 of 3

Letting: 02200513 May 13, 2020 **Call Order:** 005 **Contract:** E20E0-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.